ELECTRONISC II * Midterm 1 * 90 minutes * closed books and notes * July 23,2010
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1) For the amplifier circuit below, assume that V; has a zero dc component and that /p; 1s much
smaller than the current in R. Find the dc voltages at all nodes and the dc emitter currents of {J; and

(. Let the BJTs have § = 100. rFind small signal vOltage gain v,/vs and R;,.
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2) Select C; and C; in the circuit below so that the low 3dB cutoff frequency is 10 Hz. The BJTs

have £ =120. Ci=0Q Y~ C,=_3MuF
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3) Using Miller’s theorem, find the high 3-dB cutoff frequency for the amplifier given below.

Assume /¢ = 0.3 mA. _LM?
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